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VERY IMPORTANT INSTRUCTIONS (3tfir amasa frdn)

1. This question booklet consists of 100 multiple choice questions. All questions are compulsory and carry
equal marks each. There is no negative marking.
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Each question has four expected answers/alternative responses given below and marked as—A), (B), (C)

and (D). The candidate is expected to choose the appropriate answer from the options and fill on OMR
sheet. :
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3. Youwill be given separate OMR answer sheet with this question booklet. Before filling your answer on the
OMR sheet ensure that you are writing the answers in proper serial. Fill all the required information such as
Roll No., Enrolment No., Name of Centre, Subject, Paper code, etc. in appropriate places on given OMR
answer sheet, neatly and clearly. :
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4. Useonly black ball point pen to fill the code answer on OMR answer sheet.
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The circle corresponding to options of the correct answers should be filled completely on OMR answer
sheet.
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PLEASE SEE THE INSTRUCTIONS ON LAST PACE ALSO
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75. DDT and Aluminium cans are examples 75. AAA i wgfafem FA.... STEO
of : -
(A) Primary Pollutants (A) wiafas gguF #
(B) Secondary pollutants (B) faefta wgus %
(C) Biodegradable Pollutants (C) arfeiRas WuF &
(D) Non-Biodegradable Pollutants (D) A-amfeiaa ygus &
76. Which green house gas is produced by 76. e FA A 9Y fRE T EEE a
Grazing animals : I FW 22
(A) Nitrogen (A) eSS
(B) Carbon dioxide - (B) #1&7 SEATFES
(C) Methane (C) Hiem
(D) Carbon monooxide (D) T AHISTFaES
77. Which of the following is the cause of 77. /4 4 @ = faeRifrn (=1 @) o
Melanomia (skin cancer)?  HE B
(A) Acidrain (A) 371 at
(B) Allergens (B) TETsH
(C) Ozone depletion _ - - (C) 3T9H &
(D) None of these ' (D) T4 | =¥ 7
78. Level of Energy Flow in an ecosystem is 78. uftfeafas o5 o oo w9 fFg =@ =t
always: yarfed Bt 27
(A) Higher level to lower level (A) 3= ¥R 9 g @™wr =)
(B) Higher level to more higher level (B) =9 ¥ ¥ 1f3 3=9 = =
(C) Low level to high level ©C)fm =4 =5 = F
(D) Atequal level (D) §HH &/ ]
79. Which of the following are major 79. 1§ i w § wafa g g g 3
environmental issues involved in mining? quEn #-
(A) Air pollution (A) arq wRwo :
(B) Water pollution (B) Sl Wy ; 4
(C) Soil degradation (C) =1 wgwm
(D) All of the above (D) ST |t £
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80. Chipko movement was started to conserve:

81.

82.

83.

84.

8s.

(A) Forest

(B) Grasslands
(C) Deserts
(D) Soil

Which one of the following is enlisted in
Endangered plant species of India :

(A) Mango

(B) Shisham

(C) Saagaun

(D) Sandal

July Hhis..........

(A) World Enviroment Day
(B) World Population Day
(C) World AIDS Day

(D) World Education Day

Which causes water pollution :

(A) Byaccumulation of the salts

(B) By Industrial effluents -

(C) By death of the aquatic animals
(D) Byrain

Where is Kajiranga National Park situated:

(A) Uttarakhand

(B) Aasam

(C) Arunachal Pradesh
(D)-Nagaland

Which one of the following is more
responsible for Global Climate Change :
(A) Increase in green house gases

(B) Less Rainfall

(C) Atomic weapon

(D) Population explosion
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feaen ST o Teer & fora wew gan-
(A) ST

(B) 519 % HEM

(C) ¥firem

(D) faeet

IR FT Heheuw 9ed §ifd ° HH
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(A) &\

(B) viterH

(C) T

(D) =<

11 o R
(A) fava wiero fam

(B) fava sHEA fam
- (C) Tava uzH feag

(D) fava foan feag

FA-TEHY fREH Seq= B 22

(A) T Ht gfg gw

(B) #irifirs frswst gro

(C) i Sigafi % YRR & T= 28 B 2
(D) =uf gr

FISIT A9l 9T Far feorg £
(A) ITUES o

(B) 3/ W ¥

(C) erevmeret wawr ®

(D) rmetE |

forvar sreramy wfted @ fom waifus seere
w22

(A) T T8 6 w1 gy
(B) =wi &t et

(C) v wferm

(D) sFHE 3fg
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